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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

Ql. Fr=faRaa # | T T TN 150 VST W AHSATEY
Explain each of the following in about 150 words : 10x5=50

(a) @1 U4 HgEh GUY Td I GHTEH
Line and Staff Conflicts and their resolution 10

(b) T&=g T I TG geswI

Social Systems Approach of Management 10

(€ g 1 GATHHIHS T(GHH
Integrative Model of Leadership 10

(@ I g weey h Tmend (wshen.)
Problems of Management by Objectives (MBO) 10

(e) frgi v w@ Rrgia ard i "=
Assumptions of Theory X and Theory Y 10

Q2. (@ “wier Hiw s T Yeeus w Pifea gl # e § @ el (7
forear @ "wETsT |

“A  manager while delegating authority should observe certain

principles.” Elaborate. 20
(b) Toreht Gew ® faft wehr 3 wust ) GuwmE | Siqdafees GuE wI HWeH

H- €t fafvm Aot § 2

Explain the different types of conflicts in an organisation. What are the

different styles of handling interpersonal conflicts ? 20
© “oram (vdwe) fF et w afifad s @ rewal, dev @ aed |7

foream & wwsmwT |

“Perception consists of three elements : the perceiver, the context and

the target.” Elaborate. 10
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Q3. (a)
(b)
(c)
Q4. (a)
(b)
(c)

URC-8-Loma

What are the reasons for adopting a matrix organisation ? Discuss the
various problems involved in it. 20

styles. 10

What are the determinants of personality ? Explain the major attributeg
influencing organisational behaviour. 20

‘mmmm@mm% |”sam=r%sawﬁa;ﬁ,
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Discuss the different tactics which are used to gain power in an
organisation. 10
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SECTION B

Q5. Preferfiaa o | T T TN 150 WEa1 W AR

Explain each of the following in about 150 words : 10%x5=50
(a) i J&HY

Talent Management 10
(b)  WETEYdl W aTfeh e

Adjudication and Collective Bargaining 10

(¢ TWEl T oad JuE ¥ fagm
Principles of Wage and Salary Administration 10

@ o e e ()

Transfers and Separations 10

(e) Froqrea e SR EDGK (Wsﬁ)qﬁaa-mﬁaﬁﬁ
Computerised and Web-based Method of Performance Appraisal 10

Q6. (@ %ﬁmﬁuﬂmﬁqﬁmasﬁaﬁqﬁﬁmmmimaﬁqﬁi?

What are the different parriers to an effective training programme in an
organisation ? 20

(b) “mﬁaﬁm%mw%%ﬁmﬁmmﬁamﬁﬁ@aﬁ
Sforerar 61 R A S 1”gua»masmah$ﬁ,ﬁﬁﬁmﬁa‘i§mm
ﬁaﬁaﬁﬁgﬂﬁrﬁﬁﬁawml

“The main concern of trade union is that such unionism will lead to
fragmentation and weakening of the trade union movement.” In light of
this statement, discuss the challenges faced by different trade unions. 20

(c) i om e @ mdﬁﬁﬁmﬁmw@.m@.%wﬁiﬁﬁéam
Hif |

Discuss the influences of ILO on Indian lébour legislation and the
system of labour relations. 10
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Feaa: gt ® 17 i fag Al
“Human Resource Planning (HRP) is essentially concerned with the

most effective use of scarce talent.” Justify. 20

(b) “Frt Frger GETa: TE e el WU WA @ "’ 38 HYT % A H,
st dur B e Rftel = a8 e A | v fervcmur SreTee!
(fi.uag, ) H o Fog g T e (. f .Sy, & i |
«Job analysis is mainly and essentially a data collection process.” In
light of this statement, elaborate the different methods of data
collection. Compare Position Analysis Questionnaire (PAQ) with
Management Position Description Questionnaire (MPDQ). 20

(@ “usw = Imm ASA iRt % AU Seared IgT 3g Wi Somd B =ieY
@ Ty & TEY W g AR T IS =y ” frear @ T hfT |
“A good incentive plan should have sufficient incentives for workers
to raise their output and also should not put undue burden on

management.” Elaborate. 10

Q8. (@ “vou Rrem wEiwE (@A) BT g @ gleia aifem
(ﬁ)mmmm@ﬁ%@@ﬁammm
VW HREF ST o, Te % TEvE! T wHawe B e[ 8
2 =uss faftr i faasm A |
“Management Development Programmes (MDPs) are understood as a
conscious effort to improve managerial effectiveness through a planned
and deliberate learning process.” In light of this statement, discuss the
two broad methods of developing managers and supervisors in an

organisation. 20

b TR R 3T A (SREeE) B R FA S FE e S At
FH DreH IR H BT Dotz w@ E V@ @ A W@ G, sftrepl Sl M
Brewt T (AT THAR) F &t w0 6 fafte fafet 6 fe=mm fifvw |
“Management should try to remove the irritants which encourage exit of

workers.” In view of this, discuss the different methods of reducing labour

turnover. 20
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(c)
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“The objective of workers’ participation has been to bring labour and
management closer and work for achieving organisational goals.” In this
context, discuss the various reasons responsible for the failure of
workers’ participation schemes in India.

10




